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NONLINEAR HORIZONTAL OSCILLATION ANALYSIS OF LIQUID IN CYLINDRICAL CIRCULAR TANK
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Perturbation method was used to investigate the nonlinear sloshing motion
inacylindrical circular tank in response to forced horizontal oscillation.
First three terms in perturbation expansion were adopted in the present
paper. When the ratio of wave height to water depth is more smaller than
0.3, the numerical results are in agreement with the experimental data
indicating that the fluid response, both in terms of wave height and
hydrodynamic force. According to the theoretical expression deduced from
perturbation method in this paper, the time required for numerical
calculation is extremely short.
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